A+LEER (12:8) 3=

TE(EH A FEREARMNBAGEF LV I—T—ILERER

T= (BT SR FEARMBGHEFEVI—(FRFABRHRFRR255—1)

R R OBE FEFRRFB&GHEFEEI—DT—)LERER

AHEFERAH oM xTHE 5A16H(K) FHI10H00S

FE g (Fiik) 3, 032, 000

B 1K il Rl 4% (i dk) ®EEL

EALE (ZHE) AHE LY —ERG) RERORMEE BE Rt

FHLEEE (k) 2, 687, 000M

R EE 2, 901, 960M

L )= SMTESHA23A

E1THAR SHMTESA240NLTHMITFIAZ0ORET
oo ow o= AFLECEEHSNAEHE (Fik) (FA)

1M " &

T—X[E L EHRE 2, 700

) —EXEo 2=k — R

BR)Y7RAoz)L — R

BEE LY —E ZX(H) 2, 687 &AL

BRA—TURAKBRZE — R




